Out of

Al A2 A3 A4 T(A) Q1 Q2 Q3 Q4 ‘ T(Q) Overall

20
13684 ABDUL BASIT 2 2 2 2 8 1 0.5 ] 05 1 3 11 13.75
11445 ABID KHAN 2 2 2 2 8 0 05]05|05 | 1.5 9.5 11.875
13692 ADNAN SHAH 2 2 2 2 8 0 2 2 2 6 14 17.5
13132 AHMAD ZAIB 2 2 2 2 8 1 2 1 0 4 12 15
11642 AMAN ULLAH 0 0 2 2 4 0 0 0 0 0 4 5
6978 AQIB SHUKAIB 2 2 0 0 4 0 05| 0 0 0.5 4.5 5.625
13095 ASAD SHOAIB KHALIL 2 2 2 2 8 0.5 0 |05] O 1 9 11.25
13685 BADRUL ZAMAN 0 0 0 0 0 0 0 0 0 0 0 0
13678 | BAKHT ZAMAN GOHAR 2 2 2 2 8 2 1 0 0 3 11 13.75
13204 FAWAD AHMAD 0 2 2 2 6 0 0 |05] O 0.5 6.5 8.125
14231 FAWAD AHMAD 2 1 2 2 7 0 1.5 1 1 3.5 10.5 13.125
13854 FAYAZ ULLAH 2 2 2 2 8 0 05| 0 0 0.5 8.5 10.625
6997 HAFIZ AYUB HASSAN 2 2 2 2 8 0 2 2 1 5 13 16.25
14199 HAMZA JAMSHED 0 0 0 0 0 0 0 0 0 0 0 0
6620 HASSAN KHAN 0 1 0 0 1 0 0 0 0 0 1 1.25
11826 IJAZ NAWAB 2 2 2 2 8 0 05]05| 0 1 9 11.25
13012 IMAD SHEHZAD 2 2 2 2 8 0 05]05| 0 1 9 11.25
13690 IQBAL HUSSAIN 2 2 2 2 8 2 2 1.5 1 6.5 14.5 18.125
11646 JEHANGIR AHMAD 2 1 1 2 6 0 0 0 | 05| 05 6.5 8.125
11484 JUNAID UR REHMAN 0 0 2 0 2 0 0 0 0 0 2 2.5
13170 KALEEM ULLAH 2 1 2 2 7 0 0505 0 1 8 10
13746 MOHSIN ALI 2 2 0 0 4 0 1 0 0 1 5 6.25
11460 M. AKASH 2 2 2 2 8 0 1 1 2 4 12 15
6964 M. ALI 2 0 2 2 6 1 2 1 0 4 10 12,5
13752 M. KAMRAN 2 2 2 2 8 2 2 1.5 2 7.5 15.5 19.375
11448 M. MAAZ 2 0 2 0 4 0.5 0 0 0 0.5 4.5 5.625
13773 M. SHAYAN 2 2 0 2 6 0 05] 0 0 0.5 6.5 8.125
6939 M. WAQAR 2 2 2 2 8 0 2 2 0 4 12 15
11827 NAUMAN AFRIDI 0 0 0 0 0 0 0 0 0 0 0 0
12395 NOOR UL WAHAB 2 0 0 0 2 0 0 0 0 0 2 2.5
13686 OWAIS AFRIDI 2 2 2 2 8 0 2 2 2 6 14 17.5
14107 | RAFAQAT ULLAH KHAN 2 2 2 2 8 0 0 1.5 1 2.5 10.5 13.125
11900 RASHID KHAN 0 0 0 0 0 0 05| 0 0 0.5 0.5 0.625
13672 RIMSHA KHAN 2 2 2 2 8 0 1 |[05] O 1.5 9.5 11.875
11447 SADAT KHAN 0 0 0 0 0 0 0 0 0 0 0 0
4825 SHAKIR KHAN 2 1 1 2 6 0 05| 0 | 05 1 7 8.75
13738 SHEHRIYAR KHAN 1.5 2 2 2 7.5 0 0 0 0 0 7.5 9.375
13976 SHER DARAZ KHAN 2 2 2 2 8 1 2 2 2 7 15 18.75
11825 SIDDIQUE KHAN 2 0 0 0 2 0 05| 0 0 0.5 2.5 3.125
13845 TALHA KHAN 2 2 0 0 4 0 0 0 0 0 4 5

Formula on next page:



Assessment criteria:

Marks for each assignment = 2
Marks for each quiz = 2

T(A) = SUM (A1:A4)

T(Q) =SUM (Q1:Q4)

Overall =T(A) + T(Q)

Out of 20 = (Overall/16) * 20



